SAP ABAP table V T5IT 99FFC {Generated Table for View}
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MANDT [CLNT (3)]
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o V_T5IT 99FFC-APPL = ToF99F0-APPL _ _

APPL [CHAR (4)]

ENDDA [DATS (8)]

N - V_TSIT 99FFC-FIELD = T5F99FF-FIELD

T5F99FF

MANDT [CLNT (3)]

NV T5IT 99FFC-SOUGR = T5F99FG-SOUGR 0..N

MOLGA [CHAR (2)]

APPL [CHAR (4)]

FIELD [CHAR (5)]

ENDDA [DATS (8)]
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MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPL [CHAR (4)]

SOUGR [CHAR (4)]

FIELD [CHAR (5)]

ENDDA [DATS (8)]
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MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPL [CHAR (4)]

SOUWT [CHAR (4)]




